K[BIRTL

FRE3 04 (1 A~12H)

H 5
1H|2H|3H|4HA|5H|16H|7HA|8S8SH|9H|10HA|11A|12A4
e
Yy (2.8 3.2 19.1 |15.2 [19.0 [22.3 |28.4 [27.6 [21.8 |17.5 |11.9 | 6.2
SRl .
°C) e [16.0 115.4 125.0 [29.8 [31.4 |35.8 [39.3 [38.7 [32.7 |32.6 |23.2 [19.9
B [-6.9|-5.5-2.0(0.8 |51 |13.5[18.4 [15.0 [13.316.9 |0.1 [-4.6
SEYy 0 [60.6 [60.9 |64.5 |67.0 [71.1 [78.0 |77.1 |78.6 [88.0 |80.3 |78.8 |69. 4
{E};ﬂi =R
(%) e 198.6 198.8 198.8 [98.6 [98.6 |98.6 [98.6 [98.3 [98.8 |98.6 |98.6 [98.8
BA% [19.4 |13.3 |15.5 [12.7 |14.4 |24.7 |32.7 [30.8 [37.2 |25.5 |28.0 [23.0
B | vE |vEde|deeE| pE | pE (s skmEs| pE | ve | vE | o [ dbpE
(E%)‘¥ﬁmﬁ24 2.2 12.2 2.2 [2.1 |1.9 |2.1 [1.9 |1.5 |1.7 [1.5 |2.1
T I ] il Bl LEE ] ey B [ E G od i Bl AR 2 ) | o E
ARG [21.0 118.8 19.9 9.4 [21.9 [17.3 |16.1 |17.0 [21.1 [21.8 |14.9 |17.0
B 2Lk e B-
*“(Jrrﬁﬂ';ﬁﬁ 14.0 [13.0 [89.5 |53.5 |103.5 [116.0 [116.0 |114.5 |205.0 |17.5 [12.5 [12.5
e 5 9 5 4 3 3 2 1 0 2 7 3
i 20 | 11 15 15 15 14| 19| 21 10 15 ] 18| 20
(ig = 6 7 9 8 11 8 7 8 11 14 4 7
5] 0 0 0 3 2 5 3 1 9 0 1 1
Ed 0 1 2 0 0 0 0 0 0 0 0 0
AR B e &R 39.3 C
AR B AR AR -6.9 C
A R e T 98.8 9%
AR B I 12.7 %
b SN IRES 21.9 m/s
R R K B 867.5 mm




KEBEHRDL (B - 7 ] HhIgR)

R 3 04 (1 H~12H)

H 5
1Al 2A|3A|4A|5Al6H|7H|I8A|9A|10A|11A|12A|AF
FHEE R
Kl 1 3 1 1 6
KE 1 1 2
-
i ok 1 1 1 1 4
#H
25 R 2 2
e
JE 25
i 4 2 2 1 1 1 2 1 14
KR 1 5 10 | 13 8 1 38
b1/ 2 3 4 2 1 12
RE 2 2 2 1 7
/;\‘
%5 £ 2 3 6 20 19 7 2 2 61
e
=3 8% i 4 4] 5| 4| 2 19
#®
V=374 1 3 3 3 5 10 3 4 8 7 2 3 52
o 8 8
1R 3 3
k- EEl 1 2 1 9 1 14
Z DAt
= i 16 | 13| 16| 18 18] 25 | 41 | 43 | 31 12 2 7 | 242






